SHSFEEBRENRN ABEH K]

hESIMRLEESDTMSFEEEMNRARBHIKRIE, FEEOEEYTT,
BREDEAANFHBHSN ST LEBRSCEOERESF

: BERE= (&) . i
i FR25EE (E) AHSERE ER AR
ER 7,981 (kw) 3,869.0 (kw) HEaELEEE RV A—
AV 4286.1 () 1,285.9 (2) NEE
iﬁgﬁ-ll\ﬂiﬁi 0 (km) 1,629 (km)
1TH|EERE 32,080 (km) 15,611 (km)
%E% BEYE 14031 (km) 2611 (km)
INVEE Y 10,064 (km) 0 (km)
“BRLiRFHHE (BA{3I:kg-CO2)
BRI ER= FEER A 3 R
EE 3,869 (kw) 0.382 1,478.0 (kg-CO2)
AV 1,286 () 2.32 2,983 (kg-CO2)
=1 44610 (kg-CO>)
AU HHE (BA{SL :kg-CHa)
SEBX EHE b RERSA EED%: T
TE-/NEIERE 1,629 (km) 0.00001 0.0163 (kg-CHa)
BERE 15,611 (km) 0.00001 0.1561 (kg-CHa)
B2EYE 2,611 (km) 0.00001 1 0.0287 (kg-CHa)
INIEYE 0 (km) 0.000015 0.0000 (kg-CHa)
a=r 0.2011 _(kg-CHa)
A= 0.2011 X HhEBKRIE (LR A 25 = 5.0275 (kg-COz2)
—Bt-—=FHHE _ _ (B4 I :kg-N20)
B GER= FHER —BIL_=nBHe
La-/NEIERE 1,629 (km) 0.000029 0.0472 (kg-N:0)
BERE 15,611 (km) 0.000022 0.3434 (kg-N:0)
BEYE 2,611 (km) 0.000022 0.0574 (kg-N20)
INRIE Y E 0 (km) 0.000026 0.0000 (kg-N20)
=11 0.4480 (kg-N.O)
—Bbt RS 0.4480 X HhERKERE LR 298 = 133.504 (kg-CO-2)
NaARO)Aohr—RUHHE
" St 7 B xHHER#E 001 = 0.07 (kg-HFC)
NMED2LFRA—KY R N _
e 0.070 X hEKREIE{RE 1430 = 100.1 (kg-CO2)
BEDEIRANHHERULELE (BA{I :kg-CO2)
v e ERRZEE A5 EE N
BENRNZ  |eHpns  [BEREGEmpmE  [BEEAG TP TEE
ZERIb iR 14,373.5 96.2% 4.461.0 94.9% 31.0%
A5 13.1 0.1% 5.0 0.1% 38.2%
—BRIEZE% 395.6 2.7% 133.5 2.8% 33.7%
MEO7)VA0h—ik Y 156.0 1.0% 100.1 2.1% 64.2%
=11 14,938.2 4.699.6 31.5%
it;;“ﬁ;i]Eﬁb\%ﬁtﬁéhf:iﬂiﬁ%ﬁxﬁktﬂé (BAfiI :kg-CO2)
EEFXS ER25FEE SHISEE %t 3 G254 FE b
E 44295 1,478.0 33.4%
AV 9,944 2,983 30.0%
NEHEDET 564.7 238.6 42.3%
&t 14,938.2 4,699.6 31.5%




